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s - B

CC-1065 is
An Analgesic - (B) An Anaestheﬁic

M An Antibiotic ' (D) An Antiseptic

CC-1065 eremug)
A emadfaunef " (B) @@ wwEs HHS

©) ommpearanuiis Qamade _ D) @m Awm prélef

In “nmr”, the ‘8’ value for R-CHO will be (for an aldehyde proton).

q() 9.0 —10.0 | (B) 10.0-12.0

© 21-24 | (D) 24-26

‘nmr’ @ ‘5’ R-CHO é@(em duman® LCImLrgyéd) ‘6’ whuy
(A)  9.0-10.0 (B) 10.0-12.0

C) 21-24 D) 24-26

The “J (Hz)” in NMR for an ortho isomer of benzene system will be

\K 6to 9 ' ' (B) 05to4d

(C) 0t00.2 (D) 0to0.5

Quenéer SienbLILEL W HTECHT BCFMOTEES NMR-& J(Hz) wdiy
A 6-9 B) 05-4

© 0-02 . D) 0-05

DJCH/19
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4. Which among the following corresponds to an ‘Ester’?
(A), 1710-1780cm™ (B) 1680 — 1750 cm-!

(©) 1690 - 1740 cm™! \A 1735 — 1750 cm!

e (meuaTeuH 6T 6Tl ‘GravLit 2 L6 GHTLyenLuig?
(A) 1710-1780 cm™! - (B) 1680 —-1750 cm™!

(C) 1690 — 1740 cm-!. M) 17351750 cm!

5. In NMR, TMS proton value is & _scale is

\K.o | ® 4

© 8 ®) 10
NMR -év 2_erer TMS yCrrlLnenseflen & - jerey | ¥
A o ‘ : - (B) 4
< 8 | ' D) 10
DJCH/19 4 . 4 =




OCOCH;3s

The compound

COOH
(A)  Antibiotic
(C) Antiseptics
OCOCHz3
Garh - GTETLIg)
*COOH _
a) e uif

C) A pref

Which one is an antiseptics?
(A) Cyclopropaﬁe

(C)  Nitrous oxide

- Spaarcupbled Smual prélefl erg?
(A) euememw UCrTLGUIGH

(C)  enplyev amF®H

1s an

4 Analgesic

(9)] Disinfectant

B) ad fs8

(D) Qgmom B&S

J Thymal

(D) Thio pental sodium

B) s

(D) g,(%mrr@u'sim_rrcb Camguith

DJCH/19
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8. Drugs which relieve pain by acting on the central nervous system and reduce pain without

loss of consciousness are called

(A)  antiinflammatory drugs - (B) anaesthetics

(C) antibiotics ' V analgesics

wgHwu BrOY waTLsHd deuaul(, @mmmsﬂ Gu&amod eudleows Gon&EL Llj@.r_lF)ngGiT

erem empssliLihEleTmer.

A)  Ssssonss LCIENICL LT - (B) eanitauspilsdr |
(C) mdwemudi erdlflser : (D)  auel Heuryanflaer
9. _ In the Rideal-Walker method of standardisation of antiseptics, culture is
used. |
(A) E.coli ' (B) S.aureus
% B.t&phosus (D) M.leprae
figwd-eungst panmulled - FmLd pn@aﬂ&mmg sTUUBHSSLCUTE . eu@emb
vweruGESLIUREDE?
(A) . Csneneu B) erev. g Mwe
(C) 9. @_Cunrsev L (D) erb. QoG

DJCH/19 o 6 | — =



10.

11.

12.

According to the USEPR theory the total number of ———————— around the central atom

determines the geometry of the molecule.
(A) Bonded pair of electrons only
(B)  Lone pair of electrons only
Bonded as well as lone pair of electrons

(D) Non bonded and lone pair of electrons

USEPR GsmerensuilenLiy @a)é;ahgﬁ\eh aligeuld, 2igmieila o girar Qurés — ety
QAUIISSS). |

(A)  Qepewtiiy G revdLymemser L (HID

(B) sefl aeslyrenser L HL

(C) Qevewrliy wHOID sefl cre&Lrenser

(D)  GaverrGed FHLULTS TS TTe HmILD gafl GTedHLITeSET

Which of the following has the least electron affinity?
A) F | ® O

© N v Ne

THS ;Q';GﬁﬂLDLb GEODHS TSI BILL LD 2 a0l WigI?
@ F : (B) O
() N : (D) Ne

Among the sodium halides, the NAF has the highest melting point because it is

(A) Minimum ionic character Maximum ionic character

(C) Highest Oxidising power (D) Lowest valency

Gemqwib anrene® Gamomisailcen, NaF oifls Qardflene QaramL g ghlaneia, gl
(A) | GODHS SIS Semenid GUMLBSS) (B) =ids swalls seneno uUMLBSS
©)  ofls %sBRCado samaio D) - EopHs @oardpan

7 DJCH/19
[Turn over



13. Find out the missing element in the preparation of Boron

B,0;43 O__> SOO+23

(A) Na B B) Ca

v me D) K

Cumyren gumfggeiley Wereumb elanaruien o arer QeupdlLSeng Bl

B,O, +3 O__> 3Oo+23

(A) Na (B): Ca
(C) mg (D) K
14. Pyro silicate ion is
A)  Si0,* Si0,*

(B)
(C)  Si0* | 0( Si20,*"

anuGrm HOCasL jwief GTETLIG)

(A)  Si0,* ®B) S8io,*
€  Si0.> (D)  8i20,”
DJCH/19 | 8 b=



15.

16.

Name the element from the given electronic configuration

[Ar]4S* 3d’
(A) Titanium (Ti) ‘A 6 Scandium (Sc)
(C) Calcium (Ca) | ~ (D) Sodium (Na)

Qam(H&sL UL (HETET eTaLEHLFTET HenLDLIL] @mpuﬂsﬁl@@gj saflogSen QUWIT 6T(PEI5.

[Ar]4S? 3d’
@) eor CLewid (Ti) B)  vCaeimgwibd (Sc)
(C) smafwb (Ca) (D) Gemguwid (N<;:1)

Hydrolysis of Borazine gives

(A B0, | ‘6{ B(OH),

(©). B,H, | (D) B,N,HgCl,

Gumpéen BrmhuGLILY S bgl HeLLug
(A) B0, ;e (B) B(OH),

© B2H6 . (D) B3N3H3013 ‘

9 DJCH/19
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17.  The most electronegative elements have electronic configuration

(A ns’np? (B)  ns’np*

l ns’np® (D) ns’np®

S HFLLF GTOSLTTET HEUTSENENLD 2 eIl Seflomkisetlem eravd L mesm <ienLoliL]

(A)  ns’np® . (B) ns’np*
(C)  ns’np® (D) ns’np®
18. According to Mulliken’s scale, electro negativity is the average of jonisation potential and
(A)  ionic radius o M electron affinity
(C) effective nuclear charge (D) bond energy

paadlssaficn siaref B wemulleniig craé e seult SeeLoWTas), SwafluréEn <hmed mg‘)rcmLB

&1 FYTEFHILmGLD.

A)  Swel symo _ (B) easlgmren prlLib
C)  amssmellen Frran emseanio D)  GQevemriiny <pHmed

19.  The compound formed by the Sp®d hybridisation will have the structure
(A)  Tetrahedral (B) Pyramidal
% Trigonal bipyramidal (D) Square pyramidal

Sp’d Qarsseliy o drar Gainorisaflen auigculb
(A premapd : (B) dpfe

(©C)  wsCaremr @A (D). R SETEFHITLD

DJCH/19 o 10 | e



20.

- 21

Arrange the following free radicals in the order of their stability
L. 3° alkyl radical,

IT1. 2° alkyl radical,

M. 1° alkyl radical,

Iv. CH,

J() I>1>I>1V ® IV>II>I>1
(C) II>IV>Il>I : D) HI>IV>1>1I
EpsanL safl 2 mlysafler Hlaliys saramoaw auflmsiuBsgs
L. 3° idean, et 2L -

II. 2° gvense, safl 2 miliy,
III. 1° sdeasa, safl 2 miliy,
Iv. CH,
A I>II>II>1V B IV>III>II>1I
(C) II>IV>IlsI | - M) II>IV>I>Il
R CH, CH fIM 8H = > ?

2o Ps . Hoffman Elimination
(A) CH,=CH, E (B) Me,OH

R CH=CH, , D) C,H,
R H, N Me, OH oo > 9

CH,; CH; N Me, ¢ anm1Gwen BésLb '
(A) CH,=CH, (B) Me,0H
(C) R CH=CH, e D) C,H,
11
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22. t-bufyl carbonium ion is stabilised by
'd nine hyperconjugation structures ~ (B) six hyperconjugation structures

(C)  three hyperconjugation structures (D) no hyperconjugation structures

-y eva smrGumeflwib gwaﬂt@eﬁ fleneliys semenwanw Hlenavui(HSgieug)
(A)  qerug o e LewrT ellenaTey enOLIL|SHeTTe)

B)  =pm o e yaurT eflenare, a0l SETTE

(©)  epenm 2 annm LYewTit 6NenaTey <HenLOLIL|SETTE)

(D) 2w e et yeur elenarey Gldarssmed

23.  Whichis a poor nucleophile?

v nm ‘® OH
(C) CH,CH,NH ®) CH, 7
18 Hpen G@pHEs SlgmEseuT QUITHET?
©) CH3CH2NH (D) CH, 09

24.  Low energy HOMO hard nucleophile is

M Mew ®) R

o ..
© I D) R,P

@enaurppew HOMO &g ar sigmissm seum@ummer

(A) ~ MeLi ® RL
o
© 1 (D) R,P

DJCH/19 : 12



25.

" 26.

27.

Which among the following is the least électron attracting, “—I effect group’?
() Br ' ®) I |
(€ OH | v cH,

Qetreu(HeuaTeUDMIET, 6T LOl&E @G&)Lr)eurras grasLyrenan rig@w (—I) ellenarey BeT@GSl 2hEGWD?
(A) Br - ) B) I
(C) OH E D) C.H,

When 2-bromobutane is heated with alcoholic KOH, which is a minor product among the

following?

A 1-butene (B) - 2-butene ; )

(C) n-butane (D) ethane and propene

2-CrnGumiw CLamar, wssrdls KOH o e @@I uPSHDLCUTE, Ws&Emphs lereile

SeoL&@ eflenareileanemGlLimmar
(A)  1-Qu e - B) 2-Gyyt e
(© n-9yr Glen (D) e wpmib LCymiSen
Resonance hybrid is represented by ——————— arrow (s).
& = ®
\6 <« e (D) Both (A) and (C)

LIPS soUIGaNOTETs) 6Th SIbUEGHLTD [ AbUsGDlseTd GhlssiuGang?

@B = | ®

© <= M) (A) wpgid (C) @rerGGu

13 . ; DJCH/19
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28. First free radical detected was

B e | ® CH,
© DPPH ® H

wgedler sarr_dluiiuil L gnenn Wleneram 2 (HL

(A)  Ph,C = (B) CH,

(C) DPPH ® I

29. What happens when 1,2-dibromoethane is heated with Zn? :
w ethylene is formed (B) ethane is formed

(C) ethyne is formed (D) an organo zinc compound is formed
1,2-epCyrGuor r5Csemen, ‘Zn’ -2 L&l GHUSSID Gung;], erenen Hlapdlmg)?

(A)  asfden o peurdng ' (B) m5Csen o meurdlms

(C) rmrsmgen o (Heurdpng ' D)  @m sissnrs sflvl QuTmET 2 Heurdng)

30. It is very difficult to esterify the 2,6-dimethyl benzoic acid, due to

ﬁ) ortho effect (B) corrosive nature
(C)  its instability ' (D) explosive nature

2,6-mLB5mped QuaGeruds sflawgms, erevli L &Eeug) L0EE s ab. baralle
A) =15Csm efenerey B) arﬂuq‘{t, SETEHLD

©)  sigar fleeliyssdaemn @aoonss) D) QeugsEb LMD

DJCH/19 14



31.

.32,

33.

Name the Fertilizer 3 CaH, (PO,),

(A) Calcium diphosphate (B) Calcium Phosphate
(C) Calcium hydrogen phosphate ' M Triple Super.phc'usp.hate

3 CaH, (PO,), —2rsflem Quuii erevren?

(A) srflub erursul B)  sreodflwib umenGul

(C) srodlubd manymer urevGuLl - . (D)  @pwenw @Lur urevGuL

Which of the following compounds has the highest dipole moment value in vapour phase?

A) HI . , (B) HBr

U wr | (D) HCl

Spsaam Geromisehd ebg GCamob el Hlaaudd 2fls Qmueany Smiyamn whlieul

QuDOIHSEGLD?
(A) HI | (B) HBr
(C_) HF (D) HCIl

The molar volume of a liquid at a temperature so that its surface tension is unity is known

as _ |
(A) molecular mass 4 parachor

(C)  viscosity " (D) density

e Sreusder Liy Gualams @f wsts QM&EGD CuIg. @O GO Qauliuflenaulicd

25Sreusdlen Corant sar eredlHEL L
A) epossan Hlep B) umyr&Cami
(C) unghlaa D) = |‘_r'r§,§,]

15 | DJCH/19
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34. What is the unit of dipole mbment jn SI system?
(A) Debye (D) (B) esu.cm
: w Coulomb metres (cm) , (D) Coulomb (C)‘

B mepenau Siiemwuder @ SI @m.g)uﬁisb GTEuTEs ?
A)  qeouD) ' (B) esu.cm

(C)  sagmb B L irser (cm) | (D) smgmbd(C)

35. Mylffi

In the following expression E—d: = MC =[P] proposed by Sugden, ‘7’ refers to

(A)  Parachor  (B) Density

(C)  Frequency o Surface tension
14

Epsaam &0 e seTLIT g6 g}’ i MC =[P] ‘y’ aréugy

A)  umgsGami | . (B) sg\u_r'rg'e_a‘,]

(©) <fiQeuem ' (D) CuwhHurltiy usHoid

36. Which of the following is an example for a gel?

(A) Milk ‘ _ J Butter

(C) Ink : (D) Paint

Epssam_eupmie e salléE @ e gD 2@n?
(A) ume _ (B) QeuanQewri

©€) e D)  auameTiyFa

DJCH/19 16



37.

38.

Which of the following compound has the highest dipole moment value?

A cis-dichloroethylene '~ . | (B) p-dichlorobenzene

(C)  Methane (D) Boron trifluoride

Epssan s GeiosdnE mpamanu Hplijewuder UL siHsb?
&) cis-aL@CamCrn argHaSan ‘ (B) p-en_@CaCyn@uanSan

(C)  S5Cser , (D) Gumpner Lenpyerear®

Arrange the following isomers of dichloro benzene increasing order of dipole moment values

0—-CeH,Cl,, p-C.H,Cl,,m-C,H,Cl,

* (A) . 0-C4H,Cl,>p-CH,Cl, >m-CH,Cl,

\ﬂﬁ p—cghc5<np4%ﬁgﬁ2<o—cghcg

) m-CH,CI, .>prIGH4Clz >o—CGH4CIZ-

D) m-CeH,Cl, <0—CgH,Cl, < p—CH,Cly

EpsaemTL mL&G&n@uﬁ@uﬁhﬁm gg@&rrLor’rs;emm Gpamar SlmLyeno mggq&aﬂeﬁuaquu@l_uﬁ?sb
gneaflmsde aflamsliupsss 0 — C5H4012, p-CeH,Cl,, m - CH,Cl,

(A) o—CJLCh>meJhmz>m—CJﬁC¥.

® ,ﬁ—cghmﬂam—cgﬁcb<5_cghcg

©) m—CJﬁcg>p-thCgso—chcg-

(Df In—CJﬁCB<Q;CJth<p—¢JLCb

iz ' DJCH/19
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39.  Match the following :

Molecule
(a) H:20
(b) CO2
@ SOz
() .NHa
(a) (b)
A 2 3
(B) - 1 3
\A 4 1
D) 3 4

Epsaar_cupenn CUMmSs)ds

apevisam

(@) H:0
(b) COxz |
(c) $02
() NH;

(a)‘ (b
@ 2 3
@ 1 3
) 4 1
D) 3 4

DJCH/19

(c)

(c)

Dipole moment value

1. OD

2. 1.63 D
3. 147D

4. 1.85D

Bpepaanu Sl iy

1. OD

2. 163D

3. 1.47D

4. 185D

18



40,

41.°

42.

The letter —————— is used to indicate that the dye 1s fast to light.

A D : B S

v | D A

@ MWD eaflufenme RIEGLD eramuamss @GDISELD (PSS
A D - ®) S
) F ' . D) A

The general formula of monosaccharides is C,H,,0,, where n is

A) <2 T %2—'10

(C) 11; 15 : ' (D) =15

GurGamstéssmiyHaaien G]urrg@.lrrarr epavdaam eumitiur® C Hy O, @dleb n eramigy

@ <2 . ® 2-10

© 11-15 D =15

Oxidation of glucose using mild oxidising agents like bromine water gives
(A)  saccharic acid : (B) glucoric acid

& eluconic acid (D) . aldaric acid

LGrmdlen B Cumanp GQuearewowns ysallgGarpdl Cerar® wselgGampn yflujb Gurg)

&epsGaran Garhuusg)
(A) srésfs owlabd _ B)  ©ERECsTis Siblob
(C) Glaptduct:3 SiSla. ' (D) =eoLnfs ;g{uﬁmnb

19
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43.  The carbohydrate present in the milk of all animals 1s

(A)  sucrose | (B) maltose

' (C)  glucose : ‘w lactose

@{a;‘memg,@ Gﬁ]evréJ@a;GrﬂeaT umelled @& & s g srTGuTenanl GrL_
(A)  &&Gprev (B)  wrdGLTe

©)  ©BErsCarev L (D) " ewr&CLman

44, VThermost widely used catalyst for alkylation of benzene ring 18
@A) HF T (B) BF:

(©  FeCls Vv Ak

Guenfmen aensGamhmid Qeww Bls dswrs o uCuTsLILESSIUGHD @9@@9&&;&9

(A) HF . | (B) BFs.
(© FeCls - (D) AICKL
45. In Friedel-Crafts reaction —————— gives predominantly the meta — product.

7 SN ; (®) BF:
(€ FeCls o (D) ZnCls,
L'ir“FL_Gb—ﬁuer Lav eflenamudled : 2AFE Syareiled Gl Lr—efenar duT(aneTs sHADS.
@) AlCL | | (B) BF:
(C) FeCls (D) ZnCl:

DJCH/19 | | | 20



46.

47.

48.

On Increasing the concentration of the reactants, the rate of. a‘ reaction
A) increases ; ' (B)  decreases
. (&) remains unaltered (D) first decreases and then increases
a(n ellanamudlen Geusiomeng), 2igen eSleneri (bl Lim(mertla @'Lom)rcr'r Qedleneu iHaliu(Hdgn Cumg
(A) é{df,]asﬂES@Lb' _ (B) @eonuybn.
Q) wrorwe G mEEhn (D)  apsaler Gaoub e oifaflé@n
Which of the following statement is true in respect of order of a reaction?
(A)  Itisalways a whole number
(B) It is always a fraction
w - It may be zero, a whole number or a fraction
D) It can never be a fraction
1Gereu(mLD Sahled 6TEl 62(M eflenanude Uigenwl UHMIw o aTenLoulme samm?
A @s sruGlurf@g;JLb (LP(Lp GTeHoT
(B) @& eulumripgid G '
©) @& ypuwwrsGeur, (pperameannaGeur, QemanorsGeur @ mHéseambd
D) @& ez Curgbd Gearanorsg
Arrhenius equation at a given temperature is given as —————— (E_—Energy of
activation). 7 '
Ea C ' . Fa
=" B logK=——«—"—
@ g K = o s kT R G 2.303 RT
Ea " —FKa
C) logK=————+logA f logK =————+log A
© g =oosrr T : ) log K = arT T %8
@@ GO L Qaliuflaneuien, eimabealue sweaur@ (£, —darmapl L sibme)
: Ea ' Ea
A 1 = B) logK=—-—"—"—-—
@) logK =500 kT B log 9.303 RT
' Ea ; - FEa
Bis logK=—————+log A D) logK=——+logd
© g K =50srr H18 4 D) log K = o oamT T
21 5 . DJCH/19
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49. Single electréde potential becomes equal to standard electrodg potential if the .
(A)  Concentration of ions is 1 M
% Concentration of ionsis 1 M and T =298 K
(C) T=298 K (Temperature = 298.1{).

(D)  Concentration of ionsis I1Mand T=0K

@heD WeTpman (&5, L Wlanpamer SipssSHE swors @meED, eriCuIGsaia
(A swells Qedley 1 M ous @@a’;@fn C%u'rrgj 3 . .
(B)  wiuaé Geflay 1 M aysaqm, whgth T = 208 K

©)  Qauliuflene (T) =298 K

D)  cwels Qadley 1 M epsayb wpmyb T =0K

50. If an electro chemical cell reaction has a value of K as 1.585 x 1097, The reaction is

(A) not feasible

M feasible

(C) in equilibrium, but not feasible

‘(D)  occuring very slowly/infinitesimally slowly

@@ Lé]m&;eug;g‘,]m LSl ot @eu{é)].uﬂwéo afenemulenm ‘K’ mﬁuurﬂm@ 1.585 x 1037, Sjeuellenem marg)
(A penGup @tueurr@ | |

T (B)  menGumid
©) @urig soflaauiis 8 mEED, e el Qunrs)

(D) W& s @Logdeﬁrra; BenL_Gumib eflenemumgh

DJCH/19 . 22



51.

52.

- In the given equilibrium, the value of ‘K’ according to Ostwald’s dilution law is

AB == A"+ B

Cl-«a) - Ca C.a '
&) K=Cl-a)/Ca " B K =Ca/C(l-a)
(C) K=C-a)C%’ o gﬁ) - K=Ca*/(1-a)

SLpGaeT @WnG gmﬁm@uﬂld), <260 aUTeOL Br5s aﬁﬂﬁu_cﬂ@n g, ‘K ufer wglureng,,

AR o A"+ B

Cl-a) Ca Coa
(A) K=CQ1-a)/Ca ¢ - @B) K=Cao/Cl-a)
(€ K=Cl-a)C%*® D) K=Ca*’/1-a) , \
- Maleie ac1d —KMAO—>
7 M Meso tartgrlc acid

(B) - () tartaric acid

(C)  (+) tartaric acid

(D)  (-) tartaric acid
wedluis oibleoid —-ﬁK—M—-I}O——%
(A) BCar Lmirmfé ifleb -
(B) () Lrremflé @dlen
(€)  (#) Lnimflé oyflab
D) (-) il udled

23
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53.

54.

55. .

Under adiabatic condition, First Law of thermodynamics becomes

(A) AU=dq-w © . (B) AU=dq+w

(C)  AU=dg ) AU=ziw

Gleuib wrpm Flenaouliled, Geitiu @ussaiwelen psembd eflfuimeansg

(A) AU=dq-w S ~ (B) AU=dq+w

(C) "AU=dq oo (D) AU=#w

Bragg's equation for 2nd ofdér reﬂection is given as

(A) . A=2dsing  (B) Ai=4dsing
v i=dsine (D) A:ds;‘“;

@\renTLmd HerT lﬂggléuaﬁlngé;a;ﬂew “rréev gwearum(

(A) A=2dsin® (B) A=4dsiné

(C)  Ai=dsing ! (D) A;dséng

The unit for b in Van der Waals equation is k

(A) - atm litre2 mol2 | (B) * m=2 mol-! '
A m? mol-! , - (D). atm-! litre? mol?

QUTGTLiT quTabey FLOGTLITL Ig giémer omhledl ‘b’-er e
(A) atm litre? mol-2 ' ' (B) m3 mol!

(C)  ms3 mol?! : 5 : (D) atm™! litre? mol?

DJCH/19 - ‘ 24



56,

ot
=1

" 58.

The number of atoms per unit cell in simple cubic, face centred cubic and body centred cubic
are ' _ '
o 142 | ®) 41,2
Q). 241 . (D) 4,8, 2
erafl sarEgrbd,. (PSULLW SETFgTD wHnb Qurmer wowl am&gmg;{é]a) geubleumm BwEs
gl g W 2 6Ten Sigmysaatlen erammantlsans
A 1,4,2 5 i B) 4,1,2
Q). 2,41 (D) 4,82
The type of structure exhibited by KCl is
(A)  face centred cubic | (B) body centred cubic
(C)  body centred tetragonal - ﬁ simple cubic
KCl ugssdler @;GDLDL'JE]GBT UGN G
(A) PSUIL{ENL LI HETFSHTLD 7 _ . (B) Quﬁ@@hmmm FMEZTD
(C) Qurpetenow Qi CyrGarere (D) ereflw sanggmb
According to the principle of equipartition of energy each translational and vibrational
degree of freedom contributes and to C,. '
/ 1 ' 1
(A) — R and R ¥ (B) Rand Y R
4 | , 1,
(C) 5 R _and 2R ; (D) 2R and 2 R
solumEL(H  phmed efldluldlemig, an@@umr’ruq Lolg')gub SiglTay o flenws ierQeu C,-55
UkseN& @D eigb WHID
(A %R wiipiis B B Ruppd éR
1y o o | ‘ y e
(®) ER whnb 2R (D) 2R womib 5 R
25 o : DJCH/19
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59. The phenomenon of lowering of ' when a gas is made to e:kpland adiabalically

from a region of high pressure no a region of low pressure is known as Joule-Thomson effect.
(A)  volume : \6 temperature
(C)  wvelocity (D) fugacity

S umyeuTang) Agls iWsspeTer LEGED QBES GPDES HWESWETET UEGHEE Ceuliwmpr

perpulley aflfleuenLuyd Cung G@DULD GTEITLIG) 83060 -SHTDEFET 6l narTa].
(A)  ugpoer 3 (B)  Geudiubleney
©  HosGausd D)  aalloalfl seranio
60. Heat of combustion of methane is —890.3 PcdJ. Calculate heat produced per gram of methane.
(A)  51.90 Ped g™ - 7 55.64Pcd gt
(C) 57.16 Pcd g™* (D) 53.40Pcd g!

BsCaaflern erfl@euliLitn-890.3 Ped. g fymb B&Csam 2 (8l(pib Qeauliu siarelenans sansd (Hs.

(A)  51.90Pcd gt (B) 55.64 Pcd gt
(C) 57.16Pcd g! (D) -53.40 Ped g!
61. The radius ratio for NaCl structure is

(A  1.22 | v{ 2.44

(C) 3.66 (D) 4.88

NaCl ggeﬁmuﬂ]m <47 &lBID

(A) 1.22 ‘ (B) 2.44

©) 3.66 : (D) 4.88

DJCH/19 26 . =



62. The average velocity of nitrogen molecule at STP is

(4) 2Bemsect y (B)

J) 45447 cm sec! | _ (D)

STP-uleb enpL_raer epavdaadlen symai Hensloisnd
(A) 28 cm sec! s e - (B)

(C) 45447 cm sec! | _ . (D)

63.  The unit cell of m_etallic go.ld 18
(A) BCC R v

(C) . Simple cubic _ (D)

o Caornas sRGSH e @ Fmm

() BCC ~ B
(C)  ereflu sanggmd : , | (D)

64. wa many Bravais lattices are present?
A) 32 - - (B)

“ « o

aggeman "Armenalan Lig s Siepliyser” o drarar?
A 32 : - B

©) .14 ' E (D)

& ' 27 

22400 cm! sec-!

981 cm ! sec

22400 cm*? sec-1

981 cm-1 sec

FCC

Hexagonal

FCC

2imi B G memrLd

DJCH/19
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65. Increasing — - character of a bond decreases the bond angle. .

(A) s
)y d (D) f
@ Wenant 16 searanweni siflafls@n Curg Gepariiys Gamamid G
@ s ® 7
© d D) f
66. Which form of cyclohexane will be the predominant form in the equilibrium mixture? -
(A) = Boat (B) Twist boat
M Chair (D) Reverse chair

e

@ sohlanas swameuudan amesGeritansGsafler ehg @ 2185 jerelle) @HEGLL?

Q) Ls

(C)  mrosmed

67.  The bond angle in alkyl free radical is

\ﬂ{ 120°

(C) 180°

Siense satl 2 miliber Wanantiiyé Camentid

(A)  120°

(C) 180°

DJCH/19
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(B)

D)

(B)

(D)

(B)

D)

Hmaw L@

G prpsred

60°

45°

60°

45°



68. ~ Fumaric acid O—SO"—> ?

(A)  Meso tartaric a_cid 6 dl-tartaric acid -
(©) d-tartaric acid (D) l-tartaric acid
<ol b Ml & yLlerid 080, .o
(A)  BCer Lrrrfé eidleld . By dl-_mronfié endleb
(C) d-Lmremflé @bl (D) l-umrorfs cﬂuuﬂ]éﬂb
69. Carbamonq have
A pyramidal structure = - (B) tetrahedral structure
. (C)  triangular structure (D) 'T" shaped

FTTGLEIUTEN&ET 6TEITLIEnEW

(A  Qrl@H emliLenL wer (B) praipdl SianwliyenLwien
(C)  &Camenr enwlL|aL_ e D) T si@wlymLwen

70. How many electrons are present in the sp” orbitals of carbon is carbocation?
@ a | v
(C) 8 (D) 10

griuen Crioyueaie o der sp’ M LT seneaT 2 enl Wl STTL@)ISHE THSMET GTeSL_[TEITEET
. & o155

o _Greren?
A 4 . o ® 6
© 8 ¢ (D) 10
= | 29 | DJCH/19
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71. Which among the following has not the ‘R' configuration?

| COOH , OH
W NHé_éﬁ - . ® HOOC-C-H
CHO o a
© 'H%—OH R ¥ Br—%COOH
CH,OH | . H

Setreumeuemeupmiet ergl 'R’ Lypsienioli) o eni_wigeden?

COOH AR ' OH
| i i
(A) N_Hg—(|3—H . (B) HOOC-C-H
CH, . r o CH,
CHO (|31
© H- (Il -OH _ (D) Br- ? - COOH
CH,OH H
72. In geometrical isomerism, notation 'E' derived from - language.
“(A) Latin (B) Greek
M German ' (D) English
cug el rHPlwsde 2 arer 'E' ghilui@ Glomfuie Gmbg QumUILLL g
(A wgHen _ (B) ACrssid
(C)  Qsrwer D) yrudawn

DJCH/19 i | 30



-73.

74.

75.

" When deciding the shapé of the molecule, the number of electrons and lone

pairs are counted.

C(A) o’ O B =z

S o | ) n

Q@ pssmblan 2 (Hey SALIMUS Eroreafls@n Gurg crevgLrensaertien
erameniléams pmib sefl @aman crasLyreanser samsslLLuhdamen.
A o ' ®B =

©C o ' D) =

Outer electronic configuration of Lanthanum in 'f' block series 1s
(A)  4f1 5d0 652 (B) 4ft 5d! 6s!
410 5d? 6s2 : ' (D) 4f! 5d2 68t
f-Qsr@dude —o drar arpgearsden Ceuafl & eresi e Sl
(A)  4f 5d° 6s2 | - (B) 4ft5d!6s!
T (C)  4f 5d!6s? : (D) 4ft 5d? 6s!
Super phosphate of lime is a mixture of
% Ca(Hz PO4)2H20+2 CaSO+2H:=0 - (B) Ca(H2P0O4)zH20+2CaS04
(C) Ca(H: PO:;_)z+2CaSO; (D) Ca(H:POu)2+ 2CaSO+H20
@Lum Lme LI U1 GneLd GTeLIg) B g6 HQM6L NG
(A) Ca(Hz PO4)2H20+2 CaSO+2H:20 B) Ca(H2P04)2'H20+20aSO4
(C)  Ca(HzPO4)2+2CaS04 (D) Ca(HzPO4)z+ 2CaSO+H20
31 . DJCH/19
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76.  Complete the reaction ,,K* — ? + e°
(A) ", Ru® B) 5 Re™

(9 gLn™ ' : 37Rb89

% .0 15 9 ¢
allenemani |€er§§;] [AFNES 36K8 - ? 4+ uleo,

A ,Ru® ; : (B) - ;;Re™

M) o o gplin® ) + L Bb®

! Which among thé following is not an isotope of uranium?
@ o P S ® Fu

© =y B o v

ey meuameunHmET 6Ts) u@u@ﬂu_zaj‘é,]abr é@&w@uﬂu {606 ?
(A) 23417 Vo ; o . (B) 2577

() e | @) U

78. Which among the following is a Lanthanide?
A  Pu : 8 . B U

(©) Th ' A Gd

&]@Tm(@mmmﬁ)@m TH OTHSEET(H < (GLD?
(A) Pu g s 0 B U

(C) Th - e | @) Gd

DJCH/19 T 32



79,

80.

Electronic configuration of La*3is ————————— (Atomic number : La—57)

W afsdes® | (B) 4°5d%s’
(C) - 4f%d'6s’ - (D) 4f'5d'6s’
La* g Gra)a';;'_r;rrm Lig.& @ () temioiiny (<igmy eremor La — 57)
(A)  4f5d%s° B) 4f%5d%s

(C)  4f'5d'6s’ (D) 4f'5d'6s’

Isobars are atoms having :

(A) Same .mass number and same‘ratomic number.
A Same mass number and different atom"ic number‘

(©) Differeﬁt mass nﬁmber and same atomic number

(D) Different mass number and different atomic number

e GaTUITT &6l 6TELI GG : QlameTL <) &aeT %@Lb.
@ gCr Hleop e opmi> §Cr Sl oram

(B) @Gy Blep erer HHD Caumiui L igmi eTew

) Cémg)juLl. Blenm eremr LD.[_i')@JL.E.) @Cr 1am) eTemT

D) Caugudlt lenp e wHHID @mgjul'_pqg{@n GTEHT -

33
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-

81.  The source of enormo_us energy of sun is due to
(A)  Fusion of deutrium and tritum
(B)  Fission of tritum to form helium
M Fusioﬁ of Hydroger_l nuclei to form helium nucleus

(D) - Fission of uranium

- Gfluaier oifls slemey Do epasdharean aryemmd
(A) TN TR} mﬁ@{u’) Lq_smrji;Lq_UJLb @Gﬁ}mrmgn@
B)  gerligwibd Geraypm abelluib depliugre

: (C)  ewaplymer 2 L & Gamanbg anedlwib é]mL_Llug;rmi)
(D) wCrailwib Gemiiuigmed

32. What are reactants needed for CAN fertilizer preparation? '
(A) NHsCaSOs,HNOs . (B) NH;CaSO04H:S0;
7 NH;CaC0s50:,HNOs " (D) NHs3,CaS04,0:,HNOs

CAN o b swnflés @g,emumrrm ellamers Gl LIm(BLGeT wreneu?

(A) NH3,CaSO4,HNOs (B) NH;,CaS04,H:zS04
(C)  NHs,CaC0s,02,HNO3 (D) NHs CaS04,02,HNO;
83. - Which is'not identical for an atom and an isotope?
(A)  Number of protons (B) Number of electrons
6 - Number of Neutrons . ' (D) Number of energy levels

<igmiefgb HCarGLmilaub ergl eamiGumed @(méang)?
(A) LGy Lénselern eraimenfidans s OBy aeEl e et et e

(C) AHwlprensaier cramrentsmea ' (D)  pme bl L kisaller cranarilsens

DJCH/19 34



84.  Compléte the following YN +1a-particle—> ';0+?

electron

M proton

Sipsasam_amg BriLs YN +la-giger — [0+?

(A)y  ere&igmen

(C)  yGymlomen

85. The unstable oxidation state of ‘Th’ is

th";

© +2

‘Th’ én flevowpp 2&68nGahn Hleae

A +3

©) +2

86. The geometry of Fe(CO)sis

( Trigonal blpyramldal

(C)  Pe ntagon

Fe(CO)s éin auig aulb
A)  paGaran GmArd@H

(C)  miCamanid

(B)

(D)

'('B)

(D)

B)

(D)

(B)
D)

- (B)

35

(D)

(B)

D)

neutron

y — particle

Bl pmen

¥~ Sisar

+4

+5

+4

+5

Square. pyramidal

Octahedral

g7 Gyl

ereuT(Lpd)

DJCH/19-
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- 87. EAN value for A'g in [Ag(NHg)‘;]" 1s

4

©

"

54,

51

[AeNH,),|' & Ag W9eir E.AN. 08
@A) 54

© 51

88, By dsp? hybridisation

(A)  Tetrahedral

l Trigonal bipyramidal

[Atomié number of Ag 18 47]

(B)
(D)

55

52

(Ag ulerr wigmy eresr = 47)

® 55

(D) 52

geometry complexes are formed.
(B) Square planar

(D) Octahedral

dsp? peuigsen sl ppaioms,
i@mﬁraﬂg}@.
&) prenapd

(©) p&Camenr G slby

89. How many Cl~

v

(G 2

COCls.3NHs wj_em AgNOs Geirg@b Gung), erggienen Cl- @;me‘oﬂ&d@ AgCl o5 efipLigeun@n?

(A)
(©)

0
5

DJCH/19

(B) sw&dm g;eﬁéargm

(D)  aamapd

lons are precipitated as AgCl, if AgNOsis added to COCls.3NH3?

B) 1

D) 3

B) 1

™) 3

36
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90. In the titration between Na2Cos (vs) HCL, the indicator used is/are
~(A)  Phenolphthalein _ (BY Thymolphthalein
M Methyl orange : (D) Both (A) and (C)

Na2Cos (vs) HCL uwen) Lgliumiede, uweru@asiu @b fomsmi (s6r)

(A  SQermeligellen ' (B)  englomed..Ligedle
C)  Qudeéd <res f (D) (A) wpmb (C)
91. An example(s) for a non— bridged carbonyl is/are
vﬁ? Fe(Co)s | (B)” . Fex(Co)s

(C) . Fes(Coyz (D) Mn2(Co)1o

urels enertlilleenT STTLIEHETE)SSTET 2 &M TemwT (D) k&eT

(A) Fe(Co) ' (B) Fes(Co)s
(C) Fes(Co)m ] (D) an(CO)lo
.92, Accordmg to werner’s theory the coordination number is equal to
(A)  Primary valency ' W Secondary valency

(©) (Primary valency—Secondary valency) (D) (Secondary valency —Primary valency)

Qeuiianit sbsieisSen Uiy, G FHEE SaaiL erabr S B B
@) @sé Sew GeearSpdr
B)  @uanmb Hana Geverglpen o
© (56 flovw GoramBipen - @ram_d Heva Geoamfper)
(D) (@rawrmd flene Gananrdlpen — psed Hlana Glananglmen)

g e | 37 - DJCH/19
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93. Primary standard solution used in acid—base volumetric analysis is
(A)  Sodium ethoxide oy (B) Potassium acetate

(C)  Sodium phenoxide MPotassi_um hydrogen phthalate

Silew — smy umedl U@lumiede, WP Heamew S LE samrsd

(A) (E&mwﬂb FHTHMeVL i (B) @L.HTI'_I_IT@U_JLb.é{é]GI_L
(C)  Gamgquwib Semsens (D) Qurirélwib ehami_rmen sTGeL
94, C.F.S.E for d? filled ion present in Octohedral complex is ——————— Dq.
4 -10Dg . (B) +2Dq
(C) +3Dg v —12Dq
areimpé) Simanals Gaiogdanerar d? HrLiiGupp owaler C.F.S.E wdiy _Dq.
(A) —10Dgq : (B) +2Dq
(C)  +3Dq - e : (D) —12Dq
95. [Co(CN)s]* complex is formed by ———— hybridisation
(A)  dsp? _ (B) spd

w’ @ ' (D) spd?

[Co(CN)e]* mrger solenanTiiy &mmreﬂ.zs Camimeang, : a;e;nuﬁ]m SEUTESHETSHSTeD
g@eﬁnﬁm@: ' '

@ dsp? L B s
©  desp’ - | D) spd?

DJCH/19 ‘ | " 38 s : . =



Bombardment v«s{ith fast neutrons

Geusid (Couswran) 0@Hs B, yrer Gomge

96, mixed fertilizer is_ represented as 4—8—2. It contains
(A? _ 4% phosehorus 8% Nitrogen 2% Potassium
\J 4% Nrtrogen 8% phosphorus 2% Potassium
C) 4% Nitrogen’S% Potassrum 2% phosphorus
(D) | 4% phosphorus 8% Pctassium 2% Nitrogen
@ samal 2_ib 4—38—2 ren) GHEsILEEDS. iSd SiLmSydeTamou
C(A) A% Lreounen 8% apLyger 2% QUi LTafluib
(B) 4% enmpL_7eent 8‘% ureburen 2% QurlLradlwin
(C) 4% emg)l'_r,rgs'm 8% Qum_Lmadluib 2% urrefuur,rrafv
(D). 4% unevuyev 8% Quri L reflwib 2% epLygmen
97 Nuclear fusion requires
Bombardment with slow neutrons (B)
M Very high temperature . (D). Very low temperature
<iamiEam GeaeariSnE C‘ég,smm
“(A) Céen&;rb @emg)g,g, ‘Iﬂ%l;.f}ﬂ‘d;’f Cuomgd (B)
©) s fs Qauufleaa D) flsb Gerpps et
b ‘3.9 |

DJCH/19
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98. Concentrated nitric acid’ has the structule |

W mo-ro, ®)

(©) . Similar to NaNO, " D) -

‘ST aplfE oflagdlen el

(&) HO-NO, | (B)

(©)  NaNO;g gsss " (D)

n — o* excitation is not present in

J CH,NO, - , LT @

(©)  CHCI. Y ®)

noot Slarréd) Qéarsg

@A) CH,NO, ' (B)

(©)  CH,CL D)

100. First liQuid anaesthetic used was -
(C,H,),0 S ®

(C)  Trilene | - D)
CE G uu.:shu@é,g,.uul'_l_ Aréu LGS W(HHS!

O et = & (D)

DJCH/19 ‘ 40

H-NO,

Similar to picric acid

H - NO,

9éfls Sufloms osss)

CH,OH

(CH,),N

CH,OH

(CH,);N

H,C = CH-O-CH = CH,

Chléroform

H,C=CH-0-CH=CH,

@@Gﬂrr@grm mb



101.. *H has
(€& - I=0 , : (D) Izig
°H-é&
] 1
A I>= B <=
@ I>3 ® 1<
. o i
© I=0 | @) I=t
102, Decomposnmn of tetrachloroethane gwes
\1 Trllene
(B) ‘ Ethylchlorlde
'(C) Chloroform
(D) Viﬁethe'ne
QLLUW@@WWGHFW{&:’,@;&;@T é]sm'&,lsyml._eﬁgrréonaﬂmgulugj
(A)  Lengeden
: (:]3)  aiHoECamer(H -
(O -@@mn@ryrfur’nb
D)  \CansSan
S Lo T .~ DJCHA9
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103.  Find out the finger print region in IR spectroscopy

’ J 700 — 1500 em-1 ‘ (B) 1500 -

a

(C) 2000 - 3000 cm-! =g (D) 3000 —

@{aaé]euurq Blpwmenauiies o erer éﬁ)ss@r]@mas L@Slenw sesr Ry

(A) 700 - 1500 ¢cm™! T (B) 1500 -

' (C) 2000 — 3000 cm™? 7 (D) 3000 =

104. Name the product

Salicylic acid Acetic anhydride? .

2000 cm~!

4000 cm™!

-

2000 em-1

4000 cm™!

(A)  Sodium salicylate , _ \K Aspirin

(C) Paracetamol )] Aminophenal

eflenem QLim(meET eremen?

s1eS8e0E DSl AL 1g.é BN
-~

(A) @Ei‘l’lq.u_lL.bﬁl'l‘QS]é]@a)L‘.; B)  eypevufler

(C) umgmdl L e ' ‘ D) = Canm. o 9emmen
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' 105.

106.

In pharmaceutical, the chemical group H.ZNCHZCO - is named by IUPAC as

(A)  Amino acetate ' (B) © Amino acetic acid

j Glycyl 7 ‘ (D) Farmyl

W HS wadla H,NCH,CO -erénp Qsr@dlée IUPAC-an Guwi wing?
(A ondlGerr @4&1@1_;'_ (B)  8Germ <=1fligd siblewld

©)  Hiverdéo we T (D) Zumfenwe

The compound D(-) threo-2-dichloro acetamido-1-p_¥nitropheny1' propane—1, 3-diol is the
chemical ‘name of

(A) - ‘Penicillin - : . (B) Pél_‘éc_:etamol

-J Chloramphenicol ‘ (D) ibuprofen

-D(-) sMGwr-2-enL@GarnGym cw(ﬂx'_puﬁ]@{_rr-l-uﬁgn—mg)i_@uno“o@mmab LQrmuGuenr-1, 3-anL 460

GTETLIG) e Geudlufwicy Gluuam
(A)  Quefifleler _ (B) umymdll L omed
(C)  @CemmyibsCueaiare . (D) @uuGymresGuen

43 ‘ DJCH/19
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'107.  Which of the following is known as inorg"anic benzene?
(A) Borane % Borazine

(© BFs T (D) Boron Nitride

\Qemeupouareupbled erg) safln G Lcnder eTer ) é{mgéaasﬁu@aﬂg)g)j?

&) GunGren B Crimler

(© BF; ' | (D) Gumprén opL @y

- 5

108. Lowest first ionisation potential will be of
(A) Halogeﬁs : ‘ (B) Ihert gases
(C)  Alkaline earth metals - J) Alkalimetals
L[S]a;é;@cmg)(r_'ﬁg T &Vu_leuﬂ W& (&L %;_r)g)m oML LIGHE
A)  Capwmensar ° | i (B)  wpsaumydsdr

(©)  smpwear 2 Coramsdr (D) sy o Censkiser

DJCH/19 L g



109.

110.

111.

‘Geometrical shape of ClO, is

(A) “+ Trigonal® | al Tetrahedral

(C)  Pyramidal (D) Linear
ClO, -e aug6u ey

A)  psCaremd - B)  prengpd

(©) .\ Q@ (D) GpiCsr(

What is the HOHbond angle in water?

A)  107° . : \l 105°

(C)y 102° S (D) 111°

Bfléd o arer HOH QenenrliL Comamrid eremen?

@) 107 B) 105°

© 102 D) 111°

Diborane reacts with-chlorine to give

(A) Dichloro diborane : : (B) richloro diborane
.(C) Hexachloro diborane A ‘ - Chloro diborane |

an_GunGrer gCermigyLer eflenamuul (B SenLiLig)
(A) oL @GarmCrr en_GunGrer B) gaorsgGarmGrm @LGUW@UG&T
(C)  Qanssr @CernCrm en_GUrGremm D)  ©CemGymr e CurCer

45 e | DJCH/19_
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112, Which of the following species has the highest ionisation potential?

\6 Li* - (B) Ar

(©) Al | (D) Mg*

21886 SweawunsELD < phnea @gmeﬁﬁu@m sefllo iam 2idwg) amsaﬂ_é?@é;ass&m_;uﬁ)gjm eTg)?
@) L’ ; (B) Ar

€ AI' _ : D) Mg"

113. Metals belonging to the same group in the periodic table are

J Be, Ca : (B) Be, Na

(© Be,Cu (D) Be, Li

satlw euflens @{II_LVGUGDGWUE]Q-J @Gy Qsn@gdeaws Corby seafloriser
(A) Be Ca (B) Be, Na

(C)  Be, Cu : , (D) Be, Li

DJCH/19 | | 46



-114. Two lone pair of electrons and two bonded pair of electrons are present n
(A) NH, g | a( H,0

(C) CH, . ' (D) BF,

Giran(h sallgs @!j’l;@')L.. STRSL_TTEEERLD, @ () et i | TS TTENS@RD 2 6TeT (passa )
(4)  NHy | ® HO0

(C) CH, (D BF

115. The basic structural unit present in all types of silicates is

(A)  SiO, Unit _ I (B) Si0,* Ion

,A Si0,* Ion BRI (D) Si0® Ton

erevar auenswiren HaSlCa_(Haeflab sremriu(ib Sl LILIGDL <60
A) S0, v . (B) = Si0,> @well |

(©  Si0," ewed D) S0 swe

& | o | ~ DJCHN9
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116. In E1 type elimination reaction the rate of the reaction depends on

(A)_ concentration of the nucleophile

J concentration of the substrate

(C)  both (A) and (B)

(D)  concentration of the electrophile

E1 Bé6 e memdar, éﬁ]mm Cousmid ————eow BN,
Q) signdsm set Qunmefiar Qsdiaj |

(B) aagﬁmu@ Qunmefien Gsdlay

© (A wppib B) 9flu @reni

(D) erevgLymet Seur Gummetlen Gadley

117. ‘NPK fertilizers are mamly produced at

l Goa

Bhilai
(@) | Alwaye
| (D)  Sindri

‘NPK’ o_grusar @u@murr@_im swirilsstuGulb

(A)  CGareur
B)  Gemi |
©) e
(D) eﬂ;r,g,rﬂ

DJCHN9 ‘ "t g



118.

119.

120.

Which one of the following is more powerful ortho-directing group then others?
(A X ' (B) Me
() OH = uﬂf 0
Spdaatr_cudbled 65 wﬁ)g)ev;@&amm AL fla 2prsCam Hanselssh SenenpLow|enL1LIg)? |
@® X . B) Me
(€ OH ' DO O
The 1,4 addition product of 1,3-butadiene and HBr is
7 (A) 3-bromo-1 butene , % bromo-2-butene
(C)  3,4-dibromo-1-butene _ (D) 1,4-dibromo-2-butene
'1,.3llﬁ]uc_5l'_l_rr:smpu56h, HBr 2 e efenen yfluyb Cung) flenL_&@n 1,4-@5@5@5 aﬂmm—eﬂmm@uﬁ@eﬁ
(A) S-ngﬁ@m&-l Gyt e ‘) (B yCprGuom-2-lyy, _eer
(©)  3,4-eoCprGom-1-19y, e (D)  1,4- o yCprGuom -2-1 Ayl te it
Which among the followihg is not a 4+M effect’ group?
(A) . OCH, | ~ (B) OH
e e
VO e-o (D) NH,
il
é]ahm@eummﬁ)gj@h‘m'é;@g,n@g “+M eflanaray Geamsg?
(4) ~ OCH, : (B) OH
\ o
(C) /C=O‘ : (D) NH,
49 | DJCH/19
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121. High energy HOMO, soft nucleophile is
&) RO (B) NH,

(C)  MeLi o St \A R,P

2 wir 2nmer HOMO Quenenwwrear oigmdam %mﬁ@un@@h
(A) RO : _ - (B) NH,

(C)  MelLi oy (D) R,P

122. DPPHis —M -
| a free radical

(B)  an electrophile
(C)  anucleophile

(D)  neither a charged species nor a free radical

" DPPH eréngy
(A) @O epon Bareg o my
(B) ER(Mh GTEVGLTTE &eumllLm(merr
©)  om é{@é&@ SeumlLummeT
D) fer sewowppgd Gdma, pHenp Wlstaran o B Ghdma

123. jrbenes are _
- WA)  strong electrophiles _ (B) weak electrophiles

(C) ‘strong nuéleophiles (D)  weak nucleophiles

STTE&ET eTemLe
B eSALBEs cravéy man seui QU
“(B) &SAwbd GD®DHS TS Ter Heult 6L peTsat
(C) iAW &e oiami&samEseuiT QummeTsar
D) SAwb GoDbHS iam&smEseT QummaTaaT

DJCH/19 | ' 50



124.

125.

126.

Addition of hydrogen at positions 1 and 4 of benzene to give an unconjugated diene in

\2“) Birch reduction ‘ (B) Markownikoff addition

(C)  Diels-Alder reaction (D) Hofmann elimination

Quenfaflen 1 wpmb 4 <pdu GLiiseller @aplpmer Cordms bHLHE Gaen Grle

QenemriGlevevrs enl_ulen GarBHiuug)

(A)  Gré @@ssD ' (B) wrraGasrallssry Corsma

(C)  eevev-LT allanar . D)  aprLiCwen Bés6 eflanan

1-chlorobutane reacts with —————— to give buton-1-0l and gives but-1-ene with
A aq. NaOH, alcoholic KOH (B) alcoholic NaOH, aq.KOH

(C) aq. NaOH, aq KOH (D) alcoholic NaOH, alcoholic KOH

1-@CermGrmalu,l G e o e eflener Lflbg) Gy L em-1-6 pmib

o e Gy -1-mem QsmHES DS

(A) it sehs NaOH, sydsanmads KOH — (B)  wydseprals NaOH, B seps KOH
(€)  $itsens NaOH, fisaps KOH (D) oywsaprells NaOH, gyisanrelis KOH |

When 2-bromobutane is heated with alcoholic KOH, the main product is

J) 2-butene | (B) "1-butene

(C)  propene and ethene _ (D) n-butane

2-uCrmGLmMAwL GLaer, <@srsdls KOH o L GHuBSHD Curg, HaLsEhd sy '

aSlenamallenerlLim(maT
(A) 2-u e 6t B) l-uwlieer
(C)  OCyminSer HYID FESeT D) n-yw Gen

51 | DJCH/19
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127.  Which of the following reaction is not an example for a heterogeneous catalysis?
@) 80,+0, 52850, B) N,+3H,— ,2NH,

(C) CH,=CH,+H,—2 >CH,-CH, \A 2H,0, l—»zﬂzo +0,

&g@é;a;mL_ @;@‘@5 @S]emem Leulg: Gﬁ]@msm%éaa;ggﬂm'a;nm 2 gryend SlenLwing? -
#)  80,+0,~Lt 250, (B) N,+3H,—fe ,oNH,
(©)  CH,=CH,+H,—Y >CH,-CH, (D) 2H,0, L ol 040,

128.  Which of the following statement is not correct?
(A)  Lyophobic colloids are irreversible
(B) Lyophobic colloids are precipitated by low concentratlon of electrolytes
(C)  Lyophilic colloids are reversible ' p
w Lyophilic colloids exhibit Tyndall effect

ﬁgésesml_@g)gjdr aThs sapm sfluimang de?

A senyL urr&r QounISEE@LD S LpLOmigET Berr SEEIDI|EDLET

(B)  senylumen @mg)j&;@m FoLDLDMBIGET L&mu@a‘ﬂaserﬂm @Gm;oeurrsm Gledlallen eﬁgfjuq_csurrﬁemxpm
(C)  seylumer seu s pRISET 6T SettanLowjent e

D)  serluTer seui sapLOiSET 1y eTL_meh ellanaray @ & magor () e

129.  Which of the following has a dipole moment value?
(A So* ' B) C,H,
" 18 snirdbenzere . -  so,

Epssameunnier ergl G muperanu §miiLenio wdleut Quhmererg?
(A) SO? . . B) CH,
(C) 1,3,5-trinitrobenzene E . (D) SO,

DJCH/19 | 52



130. An example, in which the dispersed medium is liguid and the dispersed phase being gas is
(A)  emulsion ; foam
(C)  sol _ (D). smoke

Gflena 2ari_sib dreuorsea|d, fme Hlana cumyeurss QaTarL saDSSDE @ T HSHSESHT(H
(A)  Lméwd : - B) mer :
C)  anme D) yes

- 131. Which of the following has zero dipole mome lue?
i (A)  chlorobenzene Jj’\ p- dmhloroben?ene
(C)  phenol . (D) o-dichlorobenzene

EpssTL aupmieT argl Gmapenanu Sl yaslusmsl duppieTerns? _
(A ECamGrrEuenéen : (B) p-eoL@ECemGrrQuenden
©)  Sewméd : i ‘ (D)  o-e@GarmCrruenger

132.  Which of the following is diamagnetic?
(A Iron < (B) [NiCl Nk
)  Magnesium (D Nickel

Sp&aenT_euDMIET 678 SMHSENWEES SetlanilL|en L Lg)?

A)  Gmiby - (B) [NiCL,J*
(C) wsatdwb _ (D) Hlésd
133. Gouy balance is used to measure ,
_ (A) optical properties magnetic propertles

(C)  conductivity ; potential

ST srrensls LwerLHgH olarell(Hieug
(A) gefluflwe LTy ger (B) srHsl LT SET
(C)  sL&HS settand ' (D) SemempSEHD

=S 53 |  DJCH/19
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T 134,

135.

- UMTTedlgenamiq.6im L rgdl 0.9943 g cm™

Which of the following is not rel:—;ted to a heterogeneous catalysis reaction?

J Thexdecomposi'tion of hydrogen peroxide in presence of I” as catalyst
(B) Fofrnation of SO, using SO, and oxygen in presence of finely divided Platinum "
(C) Oxidation of ammonia to nitric oxide in presence of Platinum

(D) Decomposition of aqueous solution of H,0, catalysed by MnO,

Epssam_eupiled 678l Ll eflanaiLés eflenarL e QBT jenL_Wgedea?

(A)  enami e @ugrrésmm@ I' effenaruysdl (peraflencouden é‘lem'a_},eumpg,eb

B)  pong gemssiulL Gemlgans gparafloadd SO, whmd Oy laarfbs SO,
o a5 ' —

(©)  Gemnigend gperalmaie sbGuoralur epsaimCamb g T %mg@
2_(HEUT&6) - ‘

D)  Hy0, fité senyscr MnO, efevanyssluSanme FHengeuanl_se

The density of paraldehyde is 0.9943 gem ™. Its molar mass is 132.16 gmol™!. The
parachor if the surface tension is 25.9 dyne ecm™!.

A 29087 L ® 13292

(©)  400.10 (D) 1.9886
¢ @igen Gorert Hlevp 132.16 g mol ! LODMILD SeEdT LIFLIL]
Aeilans 25.9 dyne em ™ erafléd Lmpréaian &Ly

(A) 299.87 (B) 132.92

(C)  400.10 ' (D) 1.9886

DJCH/19 ' , 54



136. Match the following on the basis of dipole moment concept :

(a)

()

(d)

@A)

®)

(©

BFs

- CO2

CH4
NH;

(@

M

Spasein_aupeop Bmapemanu SoL@0EA sEESIILY AUTBESS

(a)

(b)

(e

(d)

A)

(B)
(©)

(D)

BFs;

CO:z

CH.

NHs

(a)

(b)

(=)

(b) -

(c)

1.

I

Linear

Pyamidal

' Tetrahedral

Planar

Gpﬁ@$ﬂ®
bl
el

FIOSETLD

55
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137. ——————— dyes are applied to wool. ,
| A Az - '6 Acid

(C)  Vat- ' ‘ (D) Sulphur
soueiuiled LweaRSsLUG S - STUEIGET.
(A =Geur (B) sufe
(&) UL ' D)  spss

138.  Which of the following is not used as a dye? |
(A)  Naphthol yellow (B) Congo red

-W . Methyl orangg _ (D)

Epssa@TLeubmieT 6rg sMULTEL LWETLIHoud e ?

(A)  BrUsTE WEhseT (B)
(O Qusded ares . o (D)

139. The birth place of indigo dye is
(A)  Srilanka - - (B)

W7 India i )

Qawrig Gam Ewmgﬁeﬁ K1) TR [T

(A evferiar | (B)
(© @pdun - )

140. The colour o.f methyl orange i.n acid solution is
(A)  Orange ;
(C) Blue D)

én_&eué; geyaala Cgdle <y mepdlan Himid

(A urens ' (B)
(C)  Bed (D)

DJCH/19 ; 56

Mordent brown

SriGar Agly

e’ UGlrerer

Australia
Pakistan

%WQGUG&MW

urdleiv gmei

Red
Pink

sy
Gemendlsiiy
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141. The specific rotation of & —anomer of D(+)-glucose 1s
(A) . -+19.2° _ (B) +52.5°
) e | o) O 6

d —QUENG @@és@a;rrmﬂm set &LpMHES Flme

A)  +19.2° - ; ' (B) +52.5°
(C) ~ +111° 7 : D) -111°
142. Hydrolysis of sucrose with dilute acids gives - and
(A)  glucose, maltose (B) glucose, starch
M fructose, glucose _ (D) fructose, maltose
s&GyTen Biss eifleosgiar Hrrh uGUUSTED QAar@uLg WO
(A)  ©GEpsCsaan, wrfei)@urdv B) ©GEnpsCanav, euLmré
(&) :'.,L'_u;résGL_rrGh), G En&EGH T (D)  SLgs&GLmey, wreoGLmev
143. Kiliani reaction is conversion of to —
(A) an aldosé, lower aldose (B) a ketose, lower ketose
(©) a ketose, higher ketose ' L M an aldose, next higher ald'ose
Hedlwmanfl aflenan erenig) : & — DIHmEIS.
(A  <pCGLen, @anbs peGLTe (B) & GLrmev, gannms ELGLme
(C) ELGLmev, 2 wirhg SGLmev - (D) eoCLrmen, HHES 2 WITHS pe0GL M6

= _ . ' 57 : DJCH/19
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144. Benzene mechanism is a/an ——————— mechanism.

(A)  addition —elimination ' Jﬂ elimination — addition
(C)  addition — substitution 4 (D)  substitution — addition
Quetrengen culfdl(Lpenn e (- auLflpenm.

(A)  Coigsd - Bésm " (B)  fasd— Ceigsd

(C) Coigge — uga?@gsb- ;L (D) used@Bse — Caigzen

145.  The electrophile in the nitration reaction is
@  NO; S b xo;

© N0 | | (D) N0

anp Gy erhm aSepamudien L&@Tm@n B efleneniGlum(mar

(A) NO; , (B) NO;
©  N,O - 7 By N,0F
146. Benzene sulphonic acid is prepared by heating benzene with at

)  concentrated sulphuric acid, 80°C (B) dilute sulphuric acid,‘80°C

(&) cqncentrated sulphuric acid, 100°C (D) dilute sulphuric acid, 100°C

Quenfen &é@urr@sﬂéa SBfleold Quendenen &I_ﬁ;iﬂ — ALYRINININT Y
g‘;mmﬂésastl:u@é]mgd. | |

A)  oILi5p5s siab, 80°C B)  Bibs sbss sifeid, 80°C

(C) @i sbgs sfanb, 100°C D) fiss spss suflew, 100°C

DJCH/19 58 . g &



147.

An example for third order reaction is

(A)  2N,0, - 4NO, + 0O,

(B) CH,COOC,H; +H,0 - CH;COOH + C,H;0H
(C) + CH,COOC,H; + NaOH - CH,COONa + C,H,0H

w 2NO + 0, — 2NO,

apeTpTd auens dmenie @i ahEsEsm 6

(A)  2N,0, > 4NO, + O,

(B) CH,COOC,H, + H,0 - CH,COOH + C,H,0H
(©) CH,COOC,H, + NaOH —» CH,COONa + C,H,0OH
(D)  2NO +0, - 2NO, | "

148. A catalyst enhances the speed of a reaction. This 1s because

149.

A it lowers activation energy (B) it increases activation energy

(C) " it lowers internal energy (D) it increases internal energy

denamss, g ellmeanuiean Caussams AHsLILBSSEDSE. B8 gllarafle
(A)  Sleriey Qamer SDDER &M DEH DS (B) dlariey Qamedr g pmene iFlaiading)
(C)  odrsppenar G@nsS D) (D)  eoargppoe Hslsdng

The half life time (ty) of a first order reaction is 10 minutes. The time required for the

concentration of the reactant to change from 0.08 m to 0.02 m is
(A) 10 minutes ' 20 minutes

(©) 30 minutes (D) 40 minutes

%

© @ psoTbul . dameanudar urdl eumpsens GBID (L%J 10 Adlmger oL@W0. @ SlenamuSen

aflenarui(p) @ursefler Gomemt Gehley 0.08 m Ampg 0.02 m &@ wrng CaemeuuHid Gpiyd
(A) 10 HlflL_raiger (B) 20 flolruser
(C) 30 ALruser | (D) * 40 WS s

59  DJCH/9
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150. At infinite dilutioh, A, values for sodium acetate, hydrochloric acid and sodium chloride are
91.0x107", 426.16x10* and 126.45x10*sm? mol™" réspectix}ély (at 25°C). A° value for
acetic and at infinite dilution is ———— gm? mol ™! -

(A)  208.71 _  (B). 461.61
(Cy . 21745 | : v 39071

euTbUDD Bigs Hlaneude, Gamguid @qeﬁ@;@ manl_Cyr @Cermfé yleoid, womin Gemguilb.
GGamegen A, wdiy popGu 91.0x107, 426.16x107* oy 126.45x 10 tsm? mol ™!

(25°C We). eupbubnw Bigs Blevewudle, 28q 8 sflwsden A, wdlliLmeng,

sm? mol !,
(A) -~ 208.71 3 (B) 461.61
(© 21745 - . : D) 390.71

151.  Which of the fbllowing electrolyte can not be used in a salt bridge?
(A) NaCl : (B) KCl '
v ZncL D) K:S0s

Epssam faugeflsaiier erens o 1L uregdled LweruHsH @ueng?
(A)  NaCl - (B) KCl
(C)  ZnCl: (D) Ka2SO4

152.  The emf of the standard hydrogen electrode is ——— volts.
(A)  1.09 , : _ (B) 1.0183

L (© 110 " ; , v o

2 S emanl e Wereurulen Wer 2 b elems : Coumerl_ser.

(A 1.09 B) 1.0183
@ 1.10 D) o |

DJCH/19 | 60 ' 5 | i



153. The equation that relates AG with AS is
(A)  Kirchoff
(B)  First law of thermodynamics
w Gibbs—Helm holtz

(D)  Hess’s law of constant heat of summation

AGepwyd AS epwiyd, Qammyu@SgiIb swarum(
C(A) Afemad (B) Qe @uéseiiudien s 6id
(C)  dllev-Caneab Canmal e (D) Qamevedlen GeuiLiwomprsg gl () 648

154. The efficiency of a Carnot’s engine working between temperatures 300 Kand 0 Kis

A) 0% v 100%

(C) a (Infinity) : (D) 50%

300 K wpmd 0 K Geutiuflenevgeafler @uimi@d smrarm Gubdlrsslen Fpen
(A 0% (B)  100%
© @ (bipps) D) 50%

155. Based on Bragg’s equation for B.C.C. crystal structure d,,; for 110 plane is
o ;
x{ Ll (B)

(D)

5
&

(©)

&

a
Ja

Gyré swerum_igery, B.C.C. ugs semwoinde 110 gargdld@ d,y waiurang

: a a
(A) 75 B) 5
C L 1)
(©) T (D) 7 .
£ o 61 DJCH/19

[Turn over



156.  u;, for an ideal gas is

v o B Cpoaitive

(C)  negative (D) positive (or) negative

@ pevaSlwevy aurujeSler 4, p -wreng

&y .. ' (B)  Griweanp '
(C)  edlfwenp ' (D) Cpiberp <@g erdlioenm
157. Acéording to Le Chatlier’s principle ; and in temperature and

pressure favours the formation of NO, in the following equilibrium :
N,O, = 2NO, AH = +59 KJ

(A) increase and increase (B) decrease and decrease

(©) decrease and increase A increase and decrease
Wemeupid  sflevauiley, of-smiaSlwui  efduflemiig. WwOHmID

Qeutiuflenar wHmith Sissd NO, 2 (meurseama FTGHOTHSGLD.

N,0,== 2NO, AH = +59 KJ

Bl
(A =fsfiluy opmin sifefiy , (B)  @ermlL whmb GepmiiL
(C) Gepuy wHnb Fefliy ' D)  efsfliy Lorj)rcr,m{ci @l

158. The process in which volume remains constant is called
(A)  isobaric process = ) isochoric process

(C)  isothermal process A (D) adiabatic process

HET <S{GTEL LDTDTLOG Lommledlims @)(ma @b Cewdpenm
(A Siwssd wrpr Qeweapan (B) sarsieray LDrr;Drr Cewdapenn
(€C) Qestiuflenad wrpr Qeweapem : (D). Qeuiubworpr Aeweapen
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159.  Which of the following is not true in case of an ideal gas?
% | A gas which does not obey Boyles and Charles laws at all temperatures and pressure'
(By Agas whitzh obeys Boyles and bhérles laws at all temperatures and pressure-
(C) A gés which obeys gas equati-on PV = nRT

(D) A gas which obeys gas laws only at low pressure and high temperature

Gereumueupde smsHw (Boelwe) euaflivgenss (aury) upPlu Seuprer &mSg eT81?

(A unQé LOHMILD FMTEOEV aﬂglmm_ ETGEIT @@Juuﬁm@ LOHMLD SI(PSSSHed DULIGWITSH euaod
(eumy) |

(B)  umber wpmb srieven eddlenws ereveom G@J‘uu‘rﬁsmu WHDLD @{@g,g,g,;ﬂm Epuiuigub euefiod

(eumy)
©)  (sméHud) peoelwb aafing swarur® PV = nRT -ow &puuiguyb elaflod (eurwy)

D) @opbs <wssd wHmb Hs Cauluflawuie e ddsmes SplLgund aelvb
- (eumy)

160. Thermodynamical efficiency of a near engine is denoted as

> T,;T " o TETI
@ @eutiu @%@Ué@m Gl Bus@ssmd eren @@Muu@ﬁﬂng
() % ® 7 L 7
© T‘-’,I‘,g L o) Tsz :
= | . 63 DJCH/19

[Turn over



161. Braggs equation is
(A) n/A=2dsiné@ B) A/n=2dsinéd
J.) nAd = 2dsiné ' (D) nid=2d/sind

Sgrédlen swemur®
(A) n/iA=2dsiné@ (B) A/n =2dsinég

(®) nl = 2dsin @ (D) niA=2d/sin@

162. The value of the gas constant (R) is

(A)  0.0821 JK-1mol-! A) 1.987 Cal K-! mol-!
(C) 8.314 Cal K-! mol-! (D) 0.0821 Cal K-! mol-!

aumu wriledl (R)-&r wdliiy |
(A)  0.0821 JK-1 mol-! | (B) 1.987 Cal K-! mol-!
(C) - 8.314 Cal K- mol-! (D) 0.0821 Cal K- mol-1

163. The real gases exhit nearly ideal behaviour at -
\A) very low pressure (upto 10 atm.)
(B)  high pressure
(C)  very high pressure

(D)  between 100-200 atm. -

Qe UM EseT Hedadl e Ll LIsRTLISMET eTmé@ammiL Gum b LU
(A)  Hss Gaonbs Si(PsssSe (10 atm. eueny)

B) s oigssiHe

©) s oidls upsssda

(D) 100 @psed 200 atm. euanty
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164. .In a graphite crystal,

) a=r=90°8=120° B) a#f#r+90°
C) a=p=r=90° ' D) & =3 =9 #90°
@ Slrmerul Lig 555l
(A)  a=r=90°p=120° B) a=f+r=90°
(C) a=pf=r=90° D) a=p=r=90°

165. Milk sugar is hydrolysed by dilute acids to give
ﬁ) D(+) — glucose and D(+) — galactose
(B) Two molecules of D(+) — glucose
(C) D) — glucose and D(-) — fructose

(D) Two molecules of D(-) — fructose

Limed siésmy-gp Biss s fmisard Srmh LESEM®, S iug)
(A)  D(+) — GEp&Garev whmib D) — sresGLmav

B) @mDH) — GEnsECaney fpaésamser

(©) DH)— GEnps&Gamev LHmILD D ~—_|;| 7&GLTe

D) @@ D) —upsCLmen pperssnmnsar

166. In standard hydrogen electrode the pressure of H, gasis
(A) 0.1 B) 10

\Af 1 . (D) 100

| L enan jeen Wanapenande, H, eurujellan sipssonarg
@4 01 (B) 10
© 1 . - (D) 100

= 65
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167. Which among the following has not the ‘S’ configuration?

|NH2 | ' (131
A H-C - COOH _ (B) CICH, - C - CH(CH,),
| : ' |
COOCQH5 ' CH3
CHO ' H
o1 I
(C) HO—(IE—H _ (D) HO-C-CH,
|

CH,OH COOH

YemameuameummieT gl ‘S’ LDeianiolily 2 enl WiFeen?

| NH, | _ a1
(A H- (|3 - COOH ' (B) CICH, - |c - CH(CH,),
(|30002H5 | LJHS
CHO ' H
(C) HO—(I’J—H (D) HO—|C~CH3_
(E]HZOH - (|300H

168. The (-) lactic acid has the melting point

wA) 26°C | (B) -26°C
© 18°C D) -18°C

() gy s blwsen o m@EHaa
@) 26°C B -26°C

(C) 18°C ‘ (D) -18°C
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169. Which compound shows enantiomerism?
(A) CH,CHOHCH,

(B) CH,NH,COOH

¥ 4 CH,
|
CH, - CH - CHCI - CH,

) CHi~CH,- (|3H ~CH,

CH,

aranen&lGumniyrs 2_drer G&TOLD 6Tg?
(A) CH,CHOHCH,

() CH,NH,COOH

(©) CH,

l
CH, - CH- CHCI -CH,

@) CHs~CHa- ([3H _CH,

CH,

170. Which of the following molecule is having chiral carboﬁ?
(A) CH,CHOHCH, (B) CH,(CH,),CH,

ﬂ CH,OH - CHOH - CHO M) (CH,), -C-CH,CH,

emaupid ppessmmpsaiia arg iembwhn sriuemen Canar(Harers?
(A) CH;CHOHCH;, (B) CH,(CH,),CH,

() CH,0H-CHOH-CHO @) (CH,),-C-CH,CH,

= | 67 | DJCH/19
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171. The absolute configuration of (+) tartaric acid is -
@& (S (B) (SR)
© @®S | b e

(+) _|_rr.r'rerrﬂés Silegdlen Gow @) muuemiwey
(A)  (8S) (B) (SR)

©) (RS) ' (D) ([RR)

172. 1,2-Disubstituted cyclohexene is
A) optically inactive (B) optically active

(C) recemic mixture (D) meso compound

1L.2-@rleL ugell iul L anasCammQansGaer g
Q) gl spdoib sar@LLHDE (B)  qefl spHmib sanaowdrers |

©)  sflomis some (D)  BCer Gaitowd

173.  The conversion of one form of optically active compound into the other is known as
(A) Resolution (B) Asymmetric synthesis

(C) Walden inversion ' A) Recemisation

@ofl sLHmID SereLow|eTer epadEam b g LN [HHs) LHADTEH e NdDHE WrHHes
A) 9z gpenp B)  swésrnp Asr@iiy

© _mwsb;é&raa@lmrrﬁ)mtb D)  &PwMLE someuwLTEESD
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174. Complete the reaction COz+2NHs — ?. — NH:CONHz+H=0

(A) NH:CO NH: . (B)

‘A NH: COO NH4 ' (D)

NH. COO NH3

NH: CO NH,

eflevanenw yirsd Qegs CO+2NHs — ? > NH:CONH2+H-20

(A)  NH;CO NH: ®)

© NHCOONH: = D)

175. General oxidation state of Lanthanides is

A +1 : ' B)

6 . +3 ; D)

wnﬁ;gsﬁw@&aﬂm Qugieurer ysedlnCarpm Hleanew
@ +1 ®)

<) +3 : ' | (D)

176. The isotope used to detect the brain tumours is

A) I1-128 : (B)

& o | D)

paeTs s senars e Hlw LweTuHSsLIu@ saflwb

A) I-128 | (B)

NH: COO NH-

NH: CO NHa4

+2

+4

+2

+4

I-130

Fe—58

1-130

(C) P-32 (D) Fe-58

= . 69
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177. “Nitrochalk” is -
-d a fertilizer (B) an explosive

(C) a medicine (D) an inorganic polymer

“epl Crrendvd” eremLig) -
A)  @momd ' _ (B). R QaJLq_Gurr@c;'rr

©)  @mwmHHS (D) e saflol Leug

178. Gd*3 has the electronic configuration ——— M —— (Atomic number of Gd=64).

\A 4f75d°6s° _ (B) 41"751:1"6@1
(C)  4f"5d%6s? (D) 4f"5d"6s?
Gd*3 an ervd_graflé g () il (Gd S erenT — 64).
(A) © 4f"5d%6s° - (B) 4f"5d6s!
(C) - 4f"5d%6s? (D) 4f"5d'6s?

179. In which oxidation state, the formation of complexes by lanthanides is rare?

w[ﬁ\) +1 (B) +3

©) +4 (D) Both (B) and (C)

s sallmCanpn Hlaneoudd, eonbsmeHaer, <iflgns (Fea #8 NemaniiL)) sienameys Gamomisamar

2 (Heun&@GHmg)?
A  +1 (B) +3
© +4 ' (D) (B) wpmid (C)
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180. Which among the following is very pale pink?

i - (B) Na

(C) Pm3+ : (D) HOs3+

" Qameumeuameudme ergl Wseyb eueflblu @emepslauliy BimapenLwig?
&  EBu* (B) Nd»
(C) Pms* (D) HO*

181. The most abundant rare earth in the earth crust is

v() Ce B Gd

€y Yb (D) Lu

Lyl L1560 DFFLOTE EremriL(BILD <4(HLOGHT SetlLoLd
(&)  Ce | B) Gd
(© Yb (D) Lu

182. Loss of o particle is equivalent to
(A) Loss of two neutrons ‘ (B) Loss of two protons

M - Loss of two neutrons and two protons (D) Loss of one neutron and one proton

a —gJ&6T @PUIL| GTETLIG) &(&& FLOLD.

A)  @uean(® Fluylrrenser @LoLiy

(B) @uewr(h yCrmlLmenger GLoliLy |

(© @uew® yCrmiLrenaer @reawr(® Hluyl grenasar @iy
D) @@ yGyriimer whmib @b Bl e @y

b ' , 71 DJCH/19
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183. Lanthanides do not form complexes with —————
(A) EDTA
(C) Oxime (D)
#
wrhsman([H&er, Yarameuaralpile) Damanre s Comosms o (Heurss Querss)
(A) - EDTA (B)
(C) =smevd (D)
184. Actinides constitute
(A)  Iinner transition series \d
(C)  IIl inner transition series (D)
,5lq e (HSET oF Canbseme
Q)  Iedar @ flaow auflas (B)
©) I oot Qe fHevew cufiens (D)

185. A Hydrogen bomb is

\l more powerful than

(C)  equally powerful to
M ADL_TEET (G687 (H), Wi (& 6mTent_
A) e s euallanwireng

(©)

Guméd suadlenio 2_éerg)

DJCH/19

Mco

an atom bomb
(B)
(D)

(B)

D)

72

b chketone

CO

f— e Sl Cumes

IT inner transition series

IV inner transition series

II 2_¢t @anL_flanew cuflens

IV 2 a1 @en_flanen cuflens

less powerful than

hothing but

el @enmhs euallentowirens
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186.

187.

188.

N

\

[Co(NH3)s NO:2] SO4and [CONH3)5S04]NO2 are ———————— isomers,
[onisation . (B) - Linkage
(Cy  Co—Ordination (D) Ligand

[Ni (CN)4]2 wpmib [NiCla)? gy dlweupdler euigeuriser wpenpGul
(A)  swger gD WHOHID BrETAPS]

(B) mranapdl wpmibd FOFET EGHITLD

(C)  swger g5b LHNID FDGET FGITLD

(D)  mrenpdl wHMID BremEps

What is the condition for precipitation of a compound?

[Co(NHa3)s NO2] SO4 wpmid [CO(NH:;)5SO4]NO§ < dlwenal LT H O WLIBISET.

A). - ST ®B) @eaniy |

C)  eewray _ (D)  wafl

The structure of [Ni (CN)4]2-and [NiClg]?- are and respectively.
M Square planar and Tetrahedral (B) Tetrahedral and square planar

(C)  Square planar and square plahar (D) Tetrahedral and Tetrahedral

(A)  Ionic product = solubility product {Ionic product > Solubility product
(C)  Ionic product < Solubility product (D) - Ionic product < Solubility product

e Camob eSipug euTeugHaTET .Qcy];'__L_LDfFGGT il erapren?
Q)  ewell QuEHEESAsTMms = smrdner QUHSEGSCSTMS
(B) &u@ﬂﬂ AumEEs0sTms > sardner UMmEEGS6sTms
(C) wall QumEEEAsTms < SanTHmen Qu@&@‘é)@grrems
D) eweall QumsEsAsTas < Haydnen @u@é;@;;s@g,rrmé;

73
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189.  According to werner’s theory secondary valency of ‘Co’ in Cocls. 5SNH3

@) 3 B) 5

v ¢ D) 8

Qeurtrarilen gmmiiL], Cocls. 5SNHs ulleb 2_arar ‘Co’-er @yanrmb Flene @enenr £memeng

(A) 3 B) 5
< 6 . D) 8

190. Octahedral complexes are formed_by —————— hybridisation
A) sp? (B) dsp?

©  dsp? | ' apr

e Garant mae Faafl Qenam L& Gamomgar @engsaLiL epeld 2 (HeuTSng.
(A)  sp? (B) dsp?

(C) dsp? (D) d2sp?

191. If 25ml if 0.1IN Fe?* is titrated against 0.056N MnO), taken in the burette, the endpoint is

observed at ——— ml.
(A) 12.5 : B 25

© 375 @ 50

- 25ml 0.1N Fe?* g iemafi (5 cuig gromded flasriul L e L ar 0.05N MnO; ugweand U@uumieées

o _u@sgiIb Gungl, apgHlepewireans) Wladlulled siflwtitib.
A 125 ' (B) 25
(C) 375 (D) 50
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192. F errichexacyanoferrate (II) has the .formula
(A)  Fe [Fes(CN)els (B) Fes [Fe(CN)els
W Fei[Fe(CN)dls (D) Fe [Fe CN)els

J’u@Lxr'rrﬂé;@‘el_rr)ésemrr.KUJGGutrr:o@uGr;t;(II)aﬂeiﬂ eumuum(®
(A) Fe [Fes(CN)els (B) Fes [Fe(CN)els
(C)  Fes [Fe(CN)els (D) Fe [Fes(CN)els

193. The crystal field stabilisation energy (CFSE) of a dé system in high spin and low spin

octahedral complexes are
(A)  (-4Ao0+ p)and (-24A0 + 3p) \J (-4Dq + p)and (-24Dq + 3p)

(C)  (-24Dgq + p)and (-4Dq + 3p) + (D) (-24A0 + P)and (-4A0 + 3p)

oifs spHs wLHND GODHS sipHdl emLw df —ar@mpd DieaTes Gomomseaflen Lgs L
Havaliu@ssiulL 2bne (CFSE) @Gm.g)C‘Sm

@A) (-4A0+ p) wHHId (-24A0 +3p) B) (-4Dq+ p) wpmib (-24Dq +3p)

(®)) (-24Dq + p) wpmb (-4Dq + 3p) . (D) (-24A0+P) whmd (-4A0 + 3p)
194. E.A.N value for Ni(CO)sis ———  (Atomic number of Ni —28)
A) 32 | . ®) 34

v 36 | _ (D) 38

Ni(CO)4 e, E.AN wdlliuneng (N1 — iem) eremr — 28)
(A) 32 ' (B) 34
(C) 36 (D) 38
= | ‘ 75 ' DJCH/19
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- 195. The colour of [Co(HzO)e]“ and [CoX4]% are and : respectively

o Red and Blue . " {B). Redand Bed
(C)  Blue and Blue (D) Colourless and Colourless
[Co(H20)e)2* whmib [CoXa]?~ e s @Eﬁ)g}@u. : WHDILD
Q) fautiy wpmo Saib (B)  feutiy wpmib Heutiy
(C)  Seootd wimid Beotd D)  Bmwpps oD Anwhos)

196. The primary and Seconday valency of pt in [PtCls(NH3)]-is ————— and

respectively
(A) +4and5 : (B) +3andé6
(C). +3and5b - . ' w +4 and 6

[PtCls (NH3)]- b 2 et pt 67 (pgaanio opmith @ger_mib Blever @enawt Slmerser. (penmGui.
(A  +4 wpmb 5 (B) +3 womw 6

(C)  +3 wpmb 5 (D) +4 wHmb 6

197.  Which one of the following does not give positive test for Cu* ion in solution?
(A)  Ammonium copper (II) Sulphate Tetra ammine copper (II) Sulphate
(C)  Copper Sulphate (D) Copper Oxalate

Wetieumeuaralmlen arg senpaaiiey Cu efime o Mu uréliyel(Cpienn) Corgamarenis ClarHasmg ?

(A)  wGwralwb sriui (II) soGuL (B) Grlpbeswen srdium (1) soCGui.

C) sroufrsCul (D) srouT eysenGal
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198. According to valence bond theory, [Fe (CN)s]* is
w Diamagnetic , (B) Paramagnetic
(C)  Ferro magnetic (D) Ferri Magnetic

QevenrleeaniiLé sapdler Lig, [Fe (CN)g]*~ g
_ (A)  emhs lesEs g,ra"mmmwem_mgd (B) &b iy semenlou|ereng
(C)  SQuCrrmamhg FULILS SEmenLDU|ETeTs) D)  SQuddfl snpg FTULS Seenu|eTerg)

. 199. Oxidation number of ‘Co’ in [Co Brz(én)z]*is '
N s o (B) +2

(Cy -3 : | D) -2

[Co Brz(en)z]* efleéb ‘Co’ in delmCesrmm eregor
A +3 _ (B) +2
© -3 D) -2

200. The IUPAC name of the following co—ordination compound is
Na, [Fe(CN)s(NO)] '
(A)  Sodium nitrosyl pentacyano ferrate (II)

W Sodium penta cyanpnitrosyl ferrate (II)
(C)  Sodium nitrosyl pentacyano ferrate (I1I)
(D)  Sodium penta cyanonitfosyl ferrate (ITIT)

SipsaarL raa Weariiy Ceingdler IUPAC Quwgreng , Na,[Fe(CN)s(NO)].
(A)  Gemquwd enpl Crmenged GuamrewGenm Se@urGr_(1I) |

(B)‘ Gemguwith G]Ljsﬁtm_rr&u.JCEmrr Gm‘r_m'_(BUﬂm&Gh S@QurGrl (IT)

(C)  Gamquwibd eapl Crmenged GuamrmewGen SLAurGrr dII)

D) Csmgwibd QuerrawGerm eopLGrrenged QurCri_(IID)

= | m DJCH/19
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